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PART - |
General Mental Eligibility AT AT Traat
1. If the net was folded into a cube, 1. 3fe ST T AISH Teh O SR ST,

Wthh Of the given ShapeS WOUId |t quﬁré 6-||°h|((\‘|€4i ﬁﬁ i;hH \5‘||°|')i.(\'| aﬁa’{g
look like? e rf ° :

® o

0 []: . El ..... ; .

............. .
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2. ;
Q ?
If a mirror is placed vertically next to
the picture given above at the dotted
lines, then the image of the picture on
the left looks like-
A. 7 B. 7
L 4
e
C B O oW
3. O
[ J [}
O. . ° [ ]
®

Which cube cannot be made based on
the unfolded cube?

A ==
M|
B. £/~
O
C. (==
|
D. £/
m/

Original Sequence As per Manuscript
2.

©| -

aﬁwa&w:aﬁwﬁqmﬁa%wﬁ
foeter t@rel Wt wead w@r 3, ot o
Y oIS A AT BT Bt

A. < B. 7!

®

C.r‘ D.w

[]
AL I
®
Tl T B o ST T 1 61 o T8
ST ST EehaT?
A. =
. "
B. £~/
O
C. -
QY
D. £/=
m/

SPACE FOR ROUGH WORK / % &Td & ferar sre

20462-YKIWZ-HKJ-ENT-M

40 Set

L ]
Qcollegedunlaa
India’s largest Student Review Platform

-



4. Which figure fits the given object to

make a cube?

B la

5. Complete the series
5760, 2880, 960, 240, 48, ?

A 8

B.
C. 12
D

Original Sequence As per Manuscript
4. o S o feTT shi &t Srepfar &t 18 e

T e Sadt 22

B4 la

5760, 2880, 960, 240, 48, ?
A 8

B
C. 12
D
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6. Seven-year-old boy Nehan has been
asking his parents for a dog for the last
two years. His parents have told him
an apartment is not the right place to
keep a per Dog, but they have
permitted him to have a bird. Nehan
has not yet decided what kind of bird
he wants.

Find the statement that must be true
according to the given information.

A. Nehan does not like birds.
B. Nehan’s parents do not like dogs.
C. Nehan and his parents stay in an

apartment.
D. Nehan and his parents decided to
move.
7. If 'x' means '+', '=' means '+', '+°

means '—"and '—' means 'x' then,
2-50+40x10+96="?

A. 104

B. 98
C. 192
D. 102

Original Sequence As per Manuscript

6.

HTd "lcd ohl =T 48 ﬁ@maamﬁ

37O HTAT-ForaT & Toh 3T AT &7 81 36k

Ao+ 38 SIar fo Teh STaTdHe urerq

o ol T o foTq wet SHTE el €, wfehe

I 3 T T Ta ol SFAfd < 4 2

T A 37l ok 1 el TR & foh 3 form

e o1 vaf =1y

€ HY T HISTT ST 2 TS SR AT

STE T BT AT1T-

A. e ! velt TEe T 2

B. &M o T st o wEe T 2

C. T 3 3G Hra1-UdT U SUehe
o T&d €

D. & 3R 36k AaT-far 7 3T g
1 e fora|

gfe '« o1 37t '+'%, o ot 3 '+'%,
T ot RO~ T aref k' E,
ar

2-50+40%x10+-96="

A. 104

98

192

102

O 0w
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8. [BRUSH | UBRHS|BUSRH | SBUHR | BSRUH]|

Which of the following options comes
next in the above sequence?

A. SBHRU
B. RBSHU
C. RBHUS
D. URBSH

AsSO

OocC

OO A(COS

(O

OA

OAO

CS

oco

S A

Which of the following options
comes next in the above sequence?

A. AsC
oo
on
oo
c o

Original Sequence As per Manuscript

8.

[BRUSH | UBRHS|BUSRH | SBUHR | BSRUH]|

freferfad 9 @ i 91 foehed Suth she
T IPITAT JATAT 22

A. SBHRU
. RBSHU

B
C. RBHUS
D

. URBSH

AsSO

ocC

OOAlCOS|(ODAO|OCO

(O

OA |[CS [SA

frefaiaa 9 9 s a1 faehes SuUw sve
T SITAT 37T 22

A. AsC

a

o

o

o

a

c o
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10.

11.

12.

Three of the following four words are
alike in a certain way, and one is
different. Pick the odd one out.

A. Pentagon
B. Hexagon
C. Heptagon
D. Hendecagon

Look at this series : 22, 21, 23, 22, 24,
23, ..... What number should come
next?

A. 22
B. 24
C. 21
D. 25

Three of the following four words are
alike in a certain way and one is
different. Pick the odd one out.

A. Ohm
B. Ampere
C. Volts

D. Kelvin

Original Sequence As per Manuscript

10.

11.

12.

fmfefga T wrsat § 9 9wk fafsa
Tk ¥ T g, 3 T F9=1 B) sisig ht
T4

A. GERIOT
B. Wi

C. HIdehIvEh
D. &SI

39 T &l 9 22, 21, 23, 22, 24, 23,
... STTAT Shi 9T ek 3T ATEW?

O o w >
)
~

frefefga = sreel § @ 69w ffaa
ek @ g g 3N T fir=r 31 sl oAt
-

A. 3EH
TR

%

|
. Shfead

O O W
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13. Select the alternative which represents
three out of the five alternative figures
which, when fitted into each other,
would form a complete square-

> D IFap
1) 2 3 4) )

Original Sequence As per Manuscript

13. 39 foehed &1 =3 &L I Ui Sehieush
TTeRfaat & | i 1 TfafHfeed T 8, S
Teh-g@ H o B o, Teh ot =Tt sl

> DT ap
1) 2 3 4) )

B. 345 B. 345
C. 234 C. 234
D. 135 D. 135
14, ARE 14, ARE
*0 z0O o|:| 9 O* Ozx0O *O z0O o|:| 9 O* Ozx0O
* * [n] * * O
Which of the following options comes frfafiaa o @ i o1 fosrea Sws e
next in the above sequence? T ST ATAT 22
A.
n* A. *
z ZI:I
° o
B.
Z':' B. o
(o} Z
* L0
C.
S0 C. o
* W2
° o
D.
Z° D. Zo
o™ *
o
SPACE FOR ROUGH WORK / T &t & forar 18
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15. Select a figure amongst the Answer
Figures, which will continue the same
series established by the five Problem

Figures.
Problem Figures
1|S1|A|<n|L=

A B (© O (E)

Answer Figures

aYllwElgVa
m @ 6 @
A 1 B. 2
C. 4 D. None of the above

16. 1In a certain code, “WRONG’ is written
as ‘FMNQV’. How is ‘RIGHT’
written in that code?

A. QHFGS B. SJHIU

C. UIHJS D. SGFHQ

17. A person walked 5 meters towards the
north, took a left turn and walked for
10 meters. He then took a right turn
and walked for 20 meters, and again
took a right turn and walked 10
meters. How far is he from the starting

point?
A. 20 meters B. 25 meters
C. 30 meters D. 45 meters

Original Sequence As per Manuscript

15. 3T TR § & Teh ST T =2 i,

ST i ST SThTRT g ST 36t
@ ol S Tl-
ferat

RS 3T
1 s

St1|Av|in|L=
A @B ©) @D (E
IR TR
[a¥llw]! ﬁo L\

m» 2 3 @
A 1 B. 2
C. 4 D. 39Uk H ¥ hls Tt

. U Hfga s 4, ‘WRONG’ &t

‘FMNQV’ for@r SiTar 21 S| shis
‘RIGHT’ 4 ferar mam 22

A. QHFGS B. SJHIU
C. UIHJS D. SGFHQ

. Ush ek A T AR 5 WX =T, arfi 3R
8T AR 10 Hiet =ren ot a8 gt A
72T 3R 20 Hiet =, R O et 3
ST SN 10 Hiet =iefl| 9 AT foig &
fepet gL &2
A. 20 ¥ B. 25 #let
C. 30X D. 45X
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18.

19.

20.

21.

What should come next in the
following series?
688126861236881234
68612345687

A 6 B. 1

C. 2 D. 8

Pointing to a person, Rohit said, ‘He is
the younger of the two brothers of the

daughter of my father’s wife.” How is
the person related to Rohit?

A. nephew B. brother
C. son D. uncle

Arun is taller than Bhanu and Bhanu is
taller than Charan but shorter than
Dilip. Who is the tallest among them?

A. Arun B. Dilip
C. Arunor Dilip D. Bhanu

Satish read a book on Sunday. Sudha
read that book one day before Anil but
four days after Satish. On which day
did Anil read the book?

A. Friday B. Saturday
C. Thursday  D. Tuesday

Original Sequence As per Manuscript

18.

19.

20.

21.

FrefcTRed SfaaT # SR =17 ST =1ee?

688126861236881234
68612345687

A 6 B. 1
C. 2 D. 8
T Ak sh1 S T FLd gC, Ufea

T, ‘I8 HL U sl gl hT ST Sk o
TSI H © BT 1 I8 Afh Uted © v

TR Teiferd 27

A. SdSIT/ATST B, 9T

C. o1 D. ==/

3TV, AT © T &, R AT, =07 § S
2 Ao facfio @ Sier 31 370 & g e
HH 22

A. 3TET B. focfia

C. sEuAIfeeiy D. 9]

Tferar ol wefteT 3 U fohaTer o gur 4 9w
fondTer 1t & Ueh o Taet Tifer wcfieT a6
IR o a1rg ueh <1t = forwr fim fopaar
adl?

A. AR B. e

C. TeaR D. WTetdR
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22.

23.

24,

Original Sequence As per Manuscript

In a class of 10 girls and 20 boys,
Jaya’s rank is ‘4’ among the girls and
‘18’ in the class. What is Jaya’s rank
among boys in the class?

A. 14 B. 15
C. 16  D. Itcannot be determined
In a row of girls, Manasa is eighth 23.

from the left and Indu is seventeenth
from the right. If they interchange
their positions, Manasa becomes
fourteenth from the left. How many
girls are there in the row?

A. 30 B. 25
C. 22 D. 31

'PxQ' means 'P is mother of Q',
'P+Q" means 'Pissister of Q',
'P+ Q"' means 'P is brother of Q"'
'P—Q' means 'P is father of Q'
How is 'K' related to 'D" in the
expression?

D+F-T+K

A. Nephew or Niece

Nephew

Niece

No relation can be established

O O w

22.

24,

10 TRl 37T 20 TSh! Y Teh hefr 1,

ST hl Lok AR H *4° ST HaTH 18
2| e | TTSohi o Sl STIT ohl {oh 9T 27

A. 14 B. 15

C. 16 D.39ah fuicor 7 fomam S aerar

TSR hl Teh Ulth H, HET o4 § 3139
T W &, 3TN 3 314§ HAEe T W e
e o STUAT T TG A 7, ¥ TET ST

¥ Siegd T YT 3T ST B Ufh # fohat
REEDIRY.

A. 30 B. 25

C. 22 D. 31

'PxQ #AAR P, QAIATL,

'P+Q HwFZ 'P, QA TR,
'P+Q' H I 'P,QHWER,
'P-Q' HHAT 'P, QH TR
AR | 'K, 'D' & fore TR Teifera
22

D=F-T+K

A. IS 91 TSI

B. wdlsT

C. atsit

D. i Geer TTfud Tf foram T wehar
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25. In a certain code, ‘123’ means ‘I am 25. ws Mfgasied, <123 w13 B
going’, ‘345’ means ‘I was eating’ and 2, 345 T YA & H @1 w1 Ar AR
14 e Sh v o W1 o
‘cating’? T Y & 61 3 G o T 82
A 1l B. 2 Al B. 2
C. 5 D. 3 C. 5 D. 3

26. Four of the following five numbers 26. fa=faiad uie dearedi 9 9 =1 v fAfya
belong to one group in a certain way ik o Uk WY ¥ Heiferd §, 3 311

and the other is different. What is that

) , ;
different number? AT Tl T T~ T 1 27

84, 76, 56, 94, 24 84,76, 56, 94, 24
A. 84 B. 56 A. 84 B. 56
C. 4 D. 76 C. 94 D. 76
27. Some birds are animals 27. % vaft SIHer &
All animals are rivers et e Afeat &
Some rl\_/ers.arellons e TR S
Conclusions: N
() Some lions are animals Feap: .
(1) Some rivers are birds () FSINIFRT
(111) No animal is a lion (1) %o Afeat uef &
Ihvee conlionsge drun romte ) e
conclusions logically follow? fem et & ff ST &
A. Only (Il) follows 1 A e e 9 & ST A 27
B. Only either (1) or (I11) follows A. e (I1) STTETT HLT 2
C. Only (11) & (111) follow B. ahaet AT dr (1) AT (111 STTE0T e
D. (I1) and either (1) or (I11) follow C. el (I1) 3 (111 SFTerRoT L )
D. (I1) 33T T (I) AT (1) STET Hd
2l
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28. In the following sequence of numbers,
each number’s first and second digits
are interchanged and form a new set of
numbers. If the new set of numbers is
arranged in descending order, which
number will be the second in the set?
385, 472, 961, 528, 284

A. 284 B. 385
C. 472 D. 528

29. In a row of 40 children facing North,
Satish is eighth to the right of Ajay. If
Ajay is 18" from the right end of the
row, how far is Satish from the left

end of the row?
A. 32
C. 26

B. 31
D. 10

30. Gopal remembers that his friend

Rajesh’s birthday is after the 4" of
December but before the 7™ of
December. Rajesh’s sister, who was
born on 8™ December, remembers that
her brother’s birthday is either two
days before or two days after her
birthday. When is Rajesh’s birthday?

A. 5N December B. 4™ December
C. 7" December D. 6™ December

Original Sequence As per Manuscript

28.

29.

30.

gl o frefafad s |, Teih
T o Tee 3T qHL ek AT H et
STl & 3T ST 7 Toh T 68 ST
21 Ife T3l & T U I o] 70 |
efer feharm STU, ol He H ot ST i
ot gt

385,472,961, 528, 284

A. 284 B. 385
C. 472 D. 528

IR T AR W [T T 40 =il hl Toh
Ufeh H, 13T, 3751 o T4 § 3713 TAT T/
21 Ffe I Uith H A B 18 I TIM T
€, a1 HelTa fh o ST SR # fohat g 22

A. 32 B. 31
C. 26 D. 10

YT =l ATE & Toh 3Tk e TSt AT
ST 4 fee & w1 AAfeh 7 fegsm @
TEc | oIS sl a1e, oreeht 5= 8 fegsr
<1 3T T, %! I1E & fof 38k ATS T
STFATET IT At SHeh STFAfe & 2 fad gt
<1 fo oITe BraT ]| TSIST AT ST e 22

A. 5TeEs B. 4 fedst
C. 7 g D. 6 fegs
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General Knowledge

Original Sequence As per Manuscript

PART -1l

31. Match the following news papers with

their editor or founders-
Newspapers

(@ Miraat-ul Akhbar

(b) Comrade

(c) Al-Hilal

(d) Yugantar
Editors/Founder

() Moulana Abul Kalam Azad

(1) Varindra Kumar Ghosh

(111) Mohammad Ali

(IV) Raja Rammohan Roy

Choose the correct option-

A. a-l, b-1l, c-1l, d-1V
B. a-1V, b-1ll, c-1, d-lI
C. a-lV, b-I, c-ll, d-11l
D. a-lll, b-l, c-I, d-1V

32. In which year did Bal Gangadhar
Tilak go to jail for the crime of
treason?

A. 1897
B. 1900
C. 1901
D. 1906

31.

32.

AT AT

frfarfaa aamm o= 6 39 T s

AT FEATIHT § GHTAT HifSRI-
U I

(a) THUde srEEr

(b) HE

(c) T-Rema

(d) Fm=iT
Grq1Seh / GEATIh

() AT ST FHAH AR

(1) TRI= FAR N

(IlI) HEwre et

(IV) TSI THETES T

A. a-L, b-IL, c-1II, d-IV

B. a-IV, b-III, c-1, d-1I

C. a-IV, b-1, c-II, d-III

D. a-III, b-I1, c-1, d-IV

TSISIE o AU H o1ed Ter foreren e
ELIECRIDEY,

A. 1897

B. 1900
C. 1901
D. 1906
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33. Which statement is wrong regarding
Indian Monsoon?

A. Monsoon winds are permanent as
trade winds.

B. Monsoon distributes in to two
branches after entering in
Southern side of India in first
week of June.

C. Arabian sea branch and Bay of
Bengal branch both confluences in
the North West Part of Ganga
plains.

D. Rainfall in Delhi occurs from Bay
of Bengal branch.

34. Declared a national waterway by the

government of India.

() Ganga water way between
Haldiya and Allahabad.

(I1) Western Coastal Canal in Kerela
(Kottapuram to Kollam)

(111 Brahmaputra water way
between Sadiya and Dhubri.

A. Only (1) is correct

B. Only (I) is correct

C. (D) and (I1I) are correct
D. All are correct

Original Sequence As per Manuscript

33.

34.

WIRATS HITE % Hawl H i 91 e Tord

7

A. TR Tt 2T Aife At war
BRIECK]

B. HIMEH S[H % JoH HHIE H 9Rd
gTeaoft BT H SereT T a1 A@rHT H sl
ST 2

C. 3T UFR IRET q9T STt hl QT
TRET, ST 7T o HETH oh STF i
AT | 37199 & firet Sty 21

D. fecctt & aut g s < @ret
TIHET € Bl R

A LI I TS STemTT Sy foram

T R-

() TfeTaT I SATRTANG o We T ST
Anf

(1) A H afEm a8t (FIE &
EASTL))

(ITT) | 3 gerll o HeT T a1
ST

A. Fad (1) a&t

B. dhaet (1) &l

C. (I)Td (III) w&t

D. &t @&t
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35. Gas pipeline expansion is-
(I) Salaya to Jalandhar
(1) Hazira to Jagdishpur
(111 Vadodara to Siliguri
(1V) Barauni to Haldia

A. (), (1N, (I11) are correct
B. (I), (1), (IV) are correct
C. (D), (1), (IV) are correct
D. (1), (I11), (IV) are correct

36. Karewa is-

() Deposit of thick layer of moraine
consists of clay and other
substances.

(I1) Famous for Saffron cultivation.

(111) A clay like brown deposit
formed by the partial
decomposition of plant matter in
swamps and subsequent wet
acidic conditions.

A. Only (1) is correct

B. Only (I1) is correct

C. (D) and (I1I) are correct
D. All are correct

Original Sequence As per Manuscript

35. e Ty ATe T fored ™ 2-

(1) AT Y STefeR
(1) TSI & SRR
(1) =eieq & foefiret
1V) O & gfegan

A. (D, (1) (1) T E
B. (D), (I, AV) @&t &
C. (), ), (IV) & &
D. (II), (IIT), (IV) &=t &

. BT R-

(1) oot firgh 31 qat warelt =1 feis
T HIE 0 o § § SHE 2

(II) ST sht et o fore afdrez)

(1) Togt o T LT o e, geea 3
a1 I et steett aftfeufaat 5
AT gere o 3TifReR TTEeA 9
AT 2

A. Fad () &

B. whad (II) T&

C. ()ud (III) T&r

D. afia&t
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37. Consider the following statement-
(I) Khadar (Old) and Bangar (New)
are alluvial soil.
(1) Regur soil is suitable for cotton
cultivation.
Which of the statement given above
is/are correct?

A. Only (1) is correct

B. Only (Il) is correct

C. Both (1) and (I1) are correct
D. (1) and (1I) both wrong

38. Which of the following is institutional
source of rural credit?

A. Regional Rural Banks
B. Landlords

C. Traders

D. Money lenders

39. The main policy measures in the
agriculture sector were adopted in the
mid-1960’s. These includes-

(@) input subsidies

(b) minimum support price
(c) public storage

(d) Trade restriction measures

A. (a), (b) and (c)
B. Only (a)

C. Both (a) and (c)
D. All of the above

Original Sequence As per Manuscript

37.

38.

39.

frefafad oAt ) fomm Hifse-

() et (P Te o (T3 Sedte
fagr 2l

(1) U Tl sham ol Tt o g 3
H

YR H U bl 91/8 HoH Tei 27

A. Fad () &
B. whad (II) T&
C. (I)Td (II) T |et
D. (1) T (II) &1 TTera

e o @ i ar g fo s | 22
A. & o S

B. sfrfa

C. Ul

D. |IEhR

FHTY & 1 7 AT U 1960 3T
% eI T TITC 71, 39 Ik 2-

(a) TIIE HisEet

(b) =AW GHAA HHT

(c) WTaSIieh HSTT

(d) AR Yfcster fafer

A. (a), (b) 3 (c)
B. %dad (a)

C. (a) 3R (c) M
D. 3k H ¥ ot
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40. Match the List - A with List - B- 40. @it - A I geh - B ¥ fiem-
List— A List— B g A gt —B
(2) MRTP Act (I) 1956 (2) TH AR A G A== (1) 1956
(b) FEMA () 1970 o
(c) Industrial Policy (1) 1969 (b) . (I) 1970
Resolution (c) TNtk Hifd e (111) 1969
(d) Industrial (1V) 1999 (d) 3Tenfires emgEfET  (IV) 1999
Licensing A II, b-1V, c-1, d-III
A. all, b1V, c-1, d-I A e &
B. a'“I, b'IV, C'I, d-11 B. a-HI, b-IV, C-I, d-II
C. a1V, b-Ill, c-1, d-II C. a-IV, b-III, ¢, d-II
D. a-l, b-1V, c-Il, d-1lI D. a-I, b-1V, c-II, d-1II
41. The audible range of sound for an 41. | A ET Rl G ol &
average human beings is in the ST 90d T By 8-

frequency range of-
A. 20 Hz - 20 kHz
B. 10 Hz - 50 kHz B

C. 5Hz - 10 kHz C. 5Hz-10kHz
D. 40 Hz - 40 kHz D. 40 Hz - 40 kHz

A. 20 Hz - 20 kHz
. 10Hz-50kHz
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42. Choose the right option-

Assertion (A) : Benign Tumors are

called neoplastic cells.

Reason (R) : Malignant Tumor

spreads to other organs of the body.

A. Assertion (A) and Reason (R) are
true and Reason (R) is the correct
explanation of Assertion (A).

B. Assertion (A) and Reason (R) are
true but Reason (R) is not the
correct explanation of Assertion
(A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

43. The body responsible for planning,
implementation and evaluation of
educational programmes of school
education and teacher education at the
State Level-

A. N.CERT
B. SCERT
C. D.LET
D. CB.S.E.

Original Sequence As per Manuscript
42. o foehed TH-

43.

AR (A) : ToHTE TR aTeeTTiesh

hHIRTeRT FEATAT 2

@ (R) : Hfer=2 o I o gal STt

e thet SITaT 2

A. AT (A) T8 T (R) &1 8 3R
& (R), 31T (A) Y Ot e
2

B. 31fieeM (A) Ud e (R) |E1 & fohg
& (R), 31T (A) Y Tt e
T 2

C. 3TMheH (A) T & fobrg ok (R) TTord
2

D. 3ANEHI (A) TTeAd & foheq o (R) WET
2

T T O TRt et ue fRverh e o

31feTeh hRisRHAT Shl ASHT, TR ue

A. TTHEZAT

B. TH.# 3.

C. S (FARIA)

D. #isftwas.
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44. What is the objective of the “National
Literacy Mission (NLM)” set up on 5%
May 19887

A. To restructure the educational
organisations for better
implementation of adult education
policies.

B. To implement the policy of adult
education for all in a new spirit.

C. To sensitive people about equity
and equality issues.

D. Impart functional literacy to 80
million illiterate persons in 15-35
age group.

43. In the context of District Primary

Education Programme (DPEP) which

of the following statement/statements

is/are correct-

() Improving school effectiveness.

(I1) Strengthening the alternatives to
schooling, particularly the non-
formal education system.

Only (1)

Only (I1)

Both (1) and (1)
Neither (1) nor (I1)

0O w>
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44,

45.

5% 1988 ! TATTUT “TST F&Tar o

(T T TH)” ol 67 1 &2

A. T Jiferens Ao & deat wEteeE
o ToTu Rifereh ETaHT T TTie Tl

B. @t o ot e farerr it fifa =1 78

TS § AT AT

C. @HAT S WA % el o fowar |
CEEENIC RIS R

D. 15-35 SR a1 o 80 fufera fFeam
SAfTRAT shT FHTATcHh ATEAT Y&
AT

ST smarfires fre shrish ST St &

davf o fafafed & 9 & a1/ 9 o

w8/

() TR I THTERIET 3 GUR|

(1) Tt fRre o forerei, forwent
i fRre et sl wefed
|

A. Faa (1)
B. dhaat (1)
C. @t () T (1)
D. Tar (1) T& (1)
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46. Which Commission of Education in
India expressed the opinion that, the
tasks before agricultural development
are, therefore, clear. We must atleast
attempt to double the production of
food in the next 15 years and maintain
an adequate growth thereafter?

A. Kothari Commission (Education
Commission) (1964-66)

B. Mudaliar Commission (Secondary
Education Commission) (1952-53)

C. Radha Krishnan Commission
(University Education
Commission) (1948-49)

D. National Knowledge Commission
(2006-09)

Original Sequence As per Manuscript

46. s o f3rerr & fohe 1T 3 I8 T =A<k
T Ton, 31a:, Y forenrer o wHey el T
21 EH T 15 981 H WTET IATE hl 7 &
HH 1 TAT hE 3T 38k 2T Tty fea
SFTT TG =T T LT BT

A.
B.

IS SATNT (FI18T ST/=AT) (1964-66)
HafTaR AT (Hreatives e
) (1952-53)

TR ST (for e ferem
) (1948-49)

TS T AN (2006-09)
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47. Which of the following is correct
option in context of the Right of
Children to free and Compulsory
Education (RTE) Act 2009?

A

For class 1 to 5 - 200 working
days and 800 instructional hours in
an academic year. For class 6 to 8
- 220 working days and 1000
instructional hours in an academic
year

For class 1 to 5 - 180 working
days and 800 instructional hours in
an academic year. For class 6 to 8
- 180 working days and 720
instructional hours in an academic
year.

For class 1 to 5 - 200 working
days and 1000 instructional hours
in an academic year. For class 6 to
8 - 220 working days and 1100
instructional hours in an academic
year.

For class 1 to 5 - 200 working
days and 1200 instructional hours
in an academic year. For class 6 to
8 - 220 working days and 1320
instructional hours in an academic
year.
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47. st i 3ok SR e e
e (TR 3.) aferfam 2009 o wed
g frefaftaa & @ 1 9 fashea g 82

A.

FeIT 1 ¥ 5% fu - o Qafors e o
200 =T fea@ e 800 faretor wie, sheaar
6 T 8 % foTq - U R&qforeh a9 d 220

19 T wd 1000 fareqor =)

FeIT 1 ¥ 5% fu - e Qefors e o
180 =1 fead e 800 fIretur wie, shea
6 T 8 % foTq - U Q&Tforeh a9 7 180

19 T wd 720 fEreor =iy

FeT 1 ¥ 5 fu - T Qefores e o
200 ¥ fea@ e 1000 f3reqor =i,
HET 6 9 8 o foTu - wh Reafirr I &
220 ¥ fea@ we 1100 f3refor =)

F&T 19 5 % foTe - o Qeafir ag &
200 s fea@ we 1200 fareqor =i,
FET 6 9 8 % foTu - wh Reafir I &
220 T fa@ e 1320 fRremor =)
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48. Which of the following expenses shall
be changed upon the consolidated
fund of India?

() Salary of Judges of Supreme
Court.

(1) Salary of Officers & Servants of
Supreme Court.

(1) Administrative Expenses of
Supreme Court.

(IV) Maintenance of Building of
Court.

A. (1)

B. (I), (I

C. (), (), (1)

D. (1), (1), (1), (IV)

49. Consider the following Statements-

(I) The judges of Supreme Court
can be eligible for further office
under any government after he
has ceased to hold his office.

(1) The Comptroller and Auditor
General is not eligible for further
office under any Government
after he has ceased to hold his
office.

Now answer-

A. (1) is correct
B. (Il) is correct
C. () & (II) both are correct
D. (1) & (Il) both are wrong

Original Sequence As per Manuscript

T & @ o o1 o W ot i At

TG I 82

(1) Y=g AT o =ATATERTI T
|

(1) HaT=e AT o HATTHIIET 3T
Tkl T S|

(1) HaT=e =ATAT T YTE T S|

(IV) =TT o T T HE|

A. ()

B. (D), (I

C. (D), (I, (IIT)

D. (D), (IN), (IID), (IV)

49. {37 FHorT W fomm Hifee-

(1) HaTe AT % AT 319 U
T T T T o T1q foRe TR &
3refi foret ST ue o uT=T B Hehdl B

(1) e mRTeraTIiere: 319 U ot 7
T ST o T2Tq fohell Tehi ok 3T
forelY 31 7 & 9t =11 =idl

T I AT

A ()&

B. (ID)w&?

C. ()3 (AN adr &

D. (I) 3R (I1) &1 7Teid &
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50. What are the similarities between a 50. ue o farereren 3R ush fort farereres & s/
money bill and a finance bill? GHTATS Bt 89
()  Both are presigned by the ‘ :
President. @ ﬁwﬁrmqﬁm&fmgﬁ%
(11) Both can be introduced in Lok (IT) ﬁ@mwﬁg&w@aﬁmm
Sabha only. Tehd 2
(111) Rajya Sabha can hold 14 days (II1) TT 4T 14 feT 7k Teh Tehell B
only. & o . .
(IV) President can’t refuse to assent. av) SN > AH AT
|
A. ()
B. (1), (IN) A. (D)
C. (), (1), (1) B. (D), D
D. (1), (1), (1), (IV) C. (D), (I, (IIT)
D. (D), (II), (IIT), (IV)
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PART - I11
Educational Interest freror stferstar
51. According to Fleming’s VARK model 51. wAfHT % VARK e Hied & THN,
of learning, four (04) types of learning TR (04) TR T e Rferat 8-
styles are-

A. Visible, Analytical, Reader and A. T, TR IoITeR, TIas ST Fram

Knowledgeable Kinesthetic TSt (Knowledgeable Kinesthetic)
B. Visual, Auditory, Reading/Writing B. ¥, 401, e / forery bt smafireran
Preference and Kinesthetic SRS (Kinesthetic)
C. Visible, Aware, Reader and C. g, SNT&a, UIdsh 3R NIGEIG!
Knowledgeable :
) g . D. 399, J9d, deh |Ta ST Tifest
D. Visual, Assertive, Reasonable and , ,
Kinesthetic (Kinesthetic)
52. Educational Psychology helps a 52. freqm genferg fateren it Heg o 2-
e A, TR
. Understanding se s
B. Understanding child B. s ﬁ’
C. Understanding society C. WISl o |
D. Entire Educational processes D. @Ful e Sishar §
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93. Assertion (A) : In the constructivist
approach, learners social and cultural
background significantly impact their
ideas.

Reason (R) : Constructivism
emphasizes that knowledge is actively
constructed by the learner through
interaction, perception and experience,
not merely imposed by teachers.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

54. What is the primary objective of

formative assessment?
A. To assign final grades to students.

B. To measure student learning at the
end of a unit.

C. To provide ongoing feedback to
improve student learning.

D. To compare students performance
against standardized benchmarks.

Original Sequence As per Manuscript

53. MR (A) : TATETE 39T H foramft
1 |THTISh 3 Hiehfdeh I8fH 3T
el o) AU ST STerd 8
T (R) : TEHTETE 39 91d WS 3aT & foh
T faremtferat gry st foram, Teaafiertor
TS SwEl o ATead o wishd w9 | ffia
a1 2, 7 foh shareT f3TeTes Ry <t ST 2|
A. ARRT (A) 3 HIOT (R) 241 &l &

3R FHIT (R), AR (A) il Tt
T &

B. 3o (A) 3T HIT (R) ST &t &
AT SHIUT (R), AR (A) T |t
ST e 2

C. 3T (A) BT 8, WfehT SRTT (R)
T 2l

D. ¥R (A) TTd ©, AT SIROT (R)
CHES

TETCHe STohet T & 3t 8-

A. forenfelat et s1feam g & el

B. IS o 3= H ferafefai o SAferm st
HIYAT

C. forameff stform =i gam &g waq
JEHIYOT & ATl

D. HhIehd ATk & T-ay § forameff
ERECEARSEICC I

54.
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55. Match each stage of Kolb learning 55. ahice o ERGH o SO <l 36k et forawor
cycle with its descriptions. o fyemd-
Column —1 .
() Concrete Experience bk .
(11) Reflective Observation (I) ¥ 3739 (Concrete Experience)
(111) Abstract Conceptualization (I1) =931 31aeiehd (Reflective
(IV) Active Experimentation Observation)
Column I (1) 3T STTETOT (Abstract
(@) Engaging in hands on o o
experiences Conceptuahzauf)n)
(b) Workable hypothesis developed (IV) |sH JEIT (Active
are put to test Experimentation)
(c) Arrivintg alt_ th(:_ abstra:]lcf]I oo ST 11
conceptualization and developing N 31
working hypothesis. (a) ST S H T &R
(d) Reflecting on experiences from (b) Terehféra saTereTieh UltehedHT <1
different perspective aeqor femam STTeT 2|
A. I-a, II-b, llI-c, IV-d (c) 3T STTUTON T TG K
B. I-a, ll-d, Ill-b, IV-c SATEETIER THEhTHHT folehferd ST
C. l-a, ll-d, lll-c, IV-b (d) Tafore= gEthIv & STval T
D. I-d, Il-a, lll-c, IV-b Easll
A. I-a, II-b, Ill-c, IV-d
B. I-a, II-d, IlI-b, IV-c
C. I-a, II-d, II-c, IV-b
D. I-d, II-a, IlI-c, IV-b
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56. Which of the following statement is
not correct in reference to Art
Integrated Learning (AIL)?

A. Art Integrated Learning (AIL) is a
cross curricular pedagogical
approach.

B. Art Integrated learning and Art
Education are different concepts.

C. Subjects like Science and Maths
can also be taught through AIL.

D. For using AIL in classroom, a
teacher needs special training in
Art Education.

S7. Which of the following statement is
not correct to facilitate learning for
learners at different pace?

A. Presenting a lot of concepts at a
time
B. Encouraging learners to give

examples based on their own
experiences and observations.

C. Analyzing the activity / task
before assigning to learners in
terms of time required to complete
the task and plan accordingly.

D. Designing some additional
activities / exercises for learners at
comparatively slow pace.
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56. T TRfeRd AT o Traree
ettt swemt 3 & & | a7 22
A. AT THfhd AT (AIL) T e
hispert fRer wmrel 3urT 2

B. oholl GHfohd STTeRTH ST hat f3ret
JTTT-3THT ST 8

C. fogm s wifora s farsr <
T.3TE.TSA. (AIL) o T UGTY ST Tehd
2

D. oheT el H T.37TE.TA (AIL) & TINT
2 Uk fareeh a1 shert e # fergiy
gf¥retor s 3TTerEehdr gl 21

57. fretaRaa o @ o |1 s fafi= mfa
(different pace) & HieH aret ferenfefa &
AT 2T T S 3 ot e e &2

A. T & AR | 95d AR STTURuTSA! i
ST AT

B. fornfefa st 3o Wt & i e
STSCTHAT IT STETI SISO ol I
29 ScaTTRd Tl

C. foranfifi t wiom & wd, fafafyr / e
T fers3wor T fofs & ol 0T ahtd |
TeRaIT T ST S T SATER
RISEIEEIE I

D. qeHTcHe: &9 § €iH € arel
fetferferart/srvmat s fmior s
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58. ldea of collaborative learning has
developed on the basis of concept of
‘Zone of Proximal Development’
propounded by----.

A. Jean Piaget

B. B. F. Skinner
C. Lev Vygotsky
D. Noam Chomsky

99. Which of the followings best describes
the concept of scaffolding in teaching
learning?

A. Providing students with all the
answers to guide them through a
task.

B. Offering minimal support to
students to encourage independent
learning.

C. Providing temporary support and
guidance to help students master a
new concept or skill.

D. Allowing students to struggle
without intervention to build
resilience.
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58.

59.

TEIIMIcHe AR (Collaborative
learning) =T feremR Tty foehmer &
(Zone of Proximal Development) ED

I % TR W forehfar gam & o
3] TS 1] - 3 fomam

frefefaa & 9 = f3reqor - AR &
THEHIfeST Shl ST hT AIS JUH
ETGI )

A. fornfea =t foreft el o e &
ANIERH T g A 3T TEH AT

B. foranfot ot wds 3Temr o 8
STeTied ot o T =T w&rran
TeT™ T

C. forenfeiay =i we =t sraemom
1T § TERd BTt i o fefw
ST FRRAT 3R qTie e Y
h{HT|

D. S ol A=A (resilience) farepfaa
i g o Foreh i i ey
T SR Tl
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60. Arrange the following hierarchy of
human needs in the order they are
typically fulfilled (according to
Maslow’s hierarchy) from the most
basic to the highest level of fulfilment.
(I) Seeking fulfilment and personal
growth.

(1) Having a stable job and feeling
secured.

(1) Feeling respected and achieving
recognition.

(IV) Meeting basic requirement for
survival.

(V) Forming close relationships and
feeling a sense of connection.

A. (IV), (1), (V), (1), (1)
B. (1), (11), (1), (IV), (V)
C. (IV), (V), (1), (1), (1)
D. (1), (V), (111), (IV), (1)

Original Sequence As per Manuscript

o~

e aHa STagaehdre i T

ST o1 HTHT=T &9 § G fohall ST aret

SRH (! o TETIShHTTEI) H Saerd shi

HoE T § oL 359 T hl STR-

() gt 3R AT o i @

(1) o Feer et ST gefera weae
h{AT|

(I1T) T HEGH T 3R qgaT IT6
h{AT|

(IV) Sfa TR 2 gervd
HTRIHATHT Bl QU HLAT

(V) H-E SFewe ST TR S[STe

STeHT HEgE el

A. (IV), (D), (V), (L), (I)
B. (D, (II), (III), (IV), (V)
C
D

. (IV), (V), dD), (IID), (I)
. (D), (V), dII), V), (I)
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61. Which of the following statements
best captures the essence of teaching
as an art?

A. Teaching involves systematic
planning and execution of lessons.

B. Teaching is based on scientific
inquiry and logical sequencing of
content.

C. Teaching relies solely on
following strict routines and
regimes to achieve desired
outcomes.

D. Teaching can be performed with
skills, grace and creativity
incorporating aesthetics into
learning process.

62. Which of the following is not one of

the maxims of teaching for teaching at
school level?

A. Simple to complex
Abstract to concrete
Known to unknown

B.
C.
D. Direct to indirect

Original Sequence As per Manuscript

61. fr=faRad § 9 & 91 HT FAT o ETH
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63. Which of the following strategies is
most effective in promoting an
inclusive environment?

A. Focusing solely an academic
performance.

B. Encouraging collaboration and
peer support among students.

C. Providing the same teaching
methods for all students.

D. lIsolating students with special
needs during instructional time.

64. Which of the following is not a
characteristic feature of intrinsically
motivated children?

A. They find pleasure in engaging
with their task.

B. They demonstrate high level of
enthusiasm and energy during
their activities.

They always succeed.
D. They like challenging task.

O
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65. As per NEP 2020, the school
education curriculum is divided into
the following pedagogical stages-

(a)
(b)
(©
(d)
(e)
()

Preparatory stage
Foundational stage
Higher Secondary stage
Middle stage
Secondary stage
Elementary stage

A. (b), (3), (d), (e)
B. (a), (b), (d), (&)
C. (b), (), (d), (¢)
D. (a), (b), (f), (8)
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66. Match the teaching method with its
description-
Column — 1

(I) Heuristic / Discovery Method

(1) Problem Solving Method

(1) Inductive and Deductive Method

(IV) Analytic & Synthetic Method
Column — I

(@) Involves moving from specific
examples to generalization and
vice versa.

(b) Encourage learners to actively
explore and discover solutions
through experience.

(c) Requires breaking down complex
concepts into smaller units and
vice versa for better
understanding.

(d) Involves structured steps for
learners to solve problems and
reach conclusions.

A. l-a, lI-b, Ill-c, IV-d
B. I-b, 1I-d, Ill-a, IV-c
C. I-c, ll-a, Ill-d, IV-b
D. I-d, ll-c, lll-b, IV-a
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67. Which of the following responsibility

Is not typically associated with the
role of a teacher as a teacher -
counsellor?

A

B.
C.

Providing emotional support to
student.

Offering academic guidance.

Conducting psychotherapy
sessions.

Assisting students in goal setting
and career planning.
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68. Match the following qualities of an
effective teacher with their
corresponding descriptions.

Column — |

() Empathy

(1) Communication skill

(111) Classroom management

(1V) Differentiated instruction
Column — I

(@) Skill in maintaining discipline
and creating a positive learning
environment.

(b) Capacity to understand and
connect with student’s feelings
and experiences.

(c) Ability to adopt teaching
methods to diverse learning
styles.

(d) Clear and concise expression of
ideas, instruction and feedback.

A. 1-b, ll-a, Ill-c, IV-d
B. I-b, 1I-d, Ill-a, IV-c
C. I-d, ll-b, Ill-a, IV-c
D. I-a, ll-c, Ill-d, IV-b
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69. Assertion (A) : Cochlear implants are
effective for children with hearing
Impairments.

Reason (R) : Cochlear implants
amplify sound to make it louder for
the users.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

Both Assertion (A) and Reason
(R) is false.

D.

70. What is the primary role of a teacher

in maintaining discipline in the

classroom?

(@) To create an environment of fear
to ensure compliance.

(b) To establish clear rules and
consequences.

(c) To ignore minor misbehaviours.

(d) To rely on the principal to handle

all discipline issues.

A. (a), (b) and (c)
B. (a) and (b)

C. (¢

D. (c) and (d)
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71. Which type of group formation is
most likely to enhance learning
through diverse perspective and peer
support?

A. Homogeneous grouping
Heterogeneous grouping
Interest based grouping

B.
C.
D. Ability based grouping

72. Ramesh is a teacher with a strong

understanding of pedagogy. He uses
filed trips as a part of his pedagogy.
What is primary educational benefit of
field trips for teaching-learning?

A. To reduce workload.

B. To give students a break from
regular classroom activities.

C. To allow students to socialize in
different settings.

D. To provide them with first hand
study experiences of things that
cannot be brought into the
classroom.
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73. Which of the following statements
best describes the importance of
reflective practices for a teacher?

A. Reflective practices are primarily
beneficial for novice teachers and
not experienced ones.

B. Reflective practices are primarily
beneficial for experienced teacher
occupying senior roles.

C. Reflective practices helps teacher
to teach at higher classes only.

D. Reflective practices assist a
teacher in making informed
choices and decisions related to
teaching - learning.

74. Which of the following is not a
characteristic of a good achievement
test?

A. Reliability
B. Ambiguity
C. Validity

D. Obijectivity

75. 1f a child has mental age of 12 years
and chronological age of 10 years then
what will be the 1Q of the child?

A. 83.33
B. 100
C. 120
D. 80
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76. Which of the following activities best
exemplifies experiential learning?

A. Reading a textbook and taking
notes

B. Listening to a lecture and taking
notes.

C. Participating in a hands-on
workshop.

D. Watching an educational video
online.

77. Which of the following statement is
true regarding the use of concept
mapping, in teaching — learning and
assessment?

A. Concept mapping is solely a
teaching tool and can not be used
for assessment.

B. Concept mapping which is used as
a strategy for teaching - learning
can also be used as an assessment
tool.

C. Concept mapping can only be used
in teaching - learning science.

D. Concept mapping can only be used
in teaching - learning social
science.
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78. A good teacher should be free from-
(a) Personal Experiences
(b) Academic Inertia
(c) Financial Resources
(d) Community Experiences

A. (a) and (d)

B. (a), (b) and (d)
C. (b) only

D. (c) only

79. Which strategy involves breaking
content into sections and assigning
groups to become experts on different

sections?

A. Round Robin Brainstorming
B. Jigsaw Technique

C. Think-Pair-Share Technique
D. Case Study Technique

80. What are the four pillars of learning as

proposed by UNESCO report (1996)?

A. 4 E’s - Education, Empowerment,
Excellence, Engagement

B. 4 C’s - Communication, Critical
Thinking, Creativity,
Collaboration

C. Learning to know, learning to do,
learning to be and learning to live
together.

D. Reading, Writing, Arithmetic,
Critical Thinking
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SATehifch o1 TI&Y ITH T - gl T Bl
(a) T C. BSR T hET, R SRS SR, FeTd
(b) Tt THE T BT
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91.

92.

93.

94,

PART -V

General English

Choose the correct coordinating
clause:

‘It stopped raining and the traffic
started rushing.’

A. ‘It stopped raining’
B. ‘The traffic started rushing’

C. ‘It stopped raining’
‘the traffic started rushing’

D. ‘and the traffic’
Choose the correct preposition:

She was born ------- December ------
midnight.

A. on, during

B. in, for

C. in, at

D. within, in

Choose the correct one word substitute

for — An accolade or honour bestowed
in recognition:

A. mercenary

B. carte blanche

C. fiesta

D. laurel

Choose the correct spelling:

Take the place of a person or thing
previously in authority or use-

A. supercede  B. supersede
C. supersede  D. superceed

Original Sequence As per Manuscript

AT 3T

Read the following passage and
answer the questions from 95 to 100.

The two men, Lacey and Barnes,
waited in their car about a quarter of a
mile from the big house. They sat
there in the darkness, smoking, hardly
talking. It was now a little after
midnight. At last they saw a light in
one of the upstairs windows. It flashed
once, twice, three times. “That’s the
signal,” Lacey said. Both men got out
of the car. They were wearing dark
clothes. They now put on gloves.
Lacey had small bag of tools. ‘Can |
bring the gun?’ Barnes asked. ‘How
many times must | tell you! No guns!’
Lacey snapped. ‘Not while you’re
working with me.” They entered the
garden through a small side gate. ‘I
hope there aren’t any dogs,” Barnes
said as they crept round the edge of
the garden. They were going towards
the back of the house. ‘There are no
dogs and no people here.” Lacey told
him. ‘Except for our friend upstairs.
Now keep quiet and follow me!” They
entered a big yard at the back of the
house. ‘That’s the window over there,’
Lacey said, pointing to a small
window near the kitchen door. ‘You
wait here. I’ll get through the kitchen
window. If | can’t open the door,
you’ll have to climb through the
window too.” Lacey crossed the yard.
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He opened the window without 98.
difficulty and climbed through. But
the kitchen door was locked and the
key was not there. He went to the
window and whistled to Barnes.
‘“You’ll have to climb through the
window, too,” he said. Just at that
moment they heard the sound of a car.
It was approaching the house at great
speed and its lights lit up the house as
it got nearer. People got out and they
could hear voices. ‘It’s the police!”
Barnes said. ‘It’s a trap. | knew it!l’
‘Don’t panic!” Lacey told him. ‘Now
listen to me. Go back to the car and
wait for me there. I’ll join you as soon
as | can. Off you go - and keep well in
the shadows.’

99.

Which of these sentences suggest that

Lacey and Barnes were Thieves?

() They had a car.

(I1) They were wearing dark clothes.

(111) They put on gloves.

(IV) Barnes wanted to take a gun.

(V) Barnes was afraid of dogs.

(VI) Lacey could whistle.

(V1) They ran away when the car
came.

A. (1), (1), (IV), (VII)
B. (1), (11), (IV), (V1)
C. (1), (IV), (V1), (VI1)
D. (1), (11, (IV), (V)

Choose the correct order of sentences-
(I) Lacey could not open the kitchen

door.

95. Lacey and Barnes were waiting for: (1) Lacey and Barnes came to a
A. midnight B. asignal yard.

C. afriend D. acar (111) A car approached the house.

96.

97.

Barnes wanted to-
A. put on the gloves
B. take his tools

C. take his gun

D. take his car

Before Barnes could get into the
house-

(IV) Lacey and Barnes entered the
garden through a small gate.

(V) Lacey got into the house through
a small window.

(VI) Lacey and Barnes were waiting
in their car.

A. (VI), (IV), (1), (1), (V), (1)
B. (1V), (VI), (), (11), (11), (V)
C. (V), (VD), (D), (Iv), (1), (111)

A people shouted D. (IV), (11), (1), (V), (VI), (11D
B. there was a fire
100. This story is about-
C. acar came ] )
A. two policeman B. two friends
D. saw atrap

C. two neighbours D. two thieves
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40 | SET
3T 3ifeRa o T AT 02Ee rfereRaw 3ieh : 100
Time for making answers : 02 Hours Maximum Marks : 100
e
1. 3O I YRAERTH 100 T § | T&AH TH 01 SAHHTT |
gt aor e rfar 7
2. Ui & I A TE OMR IR-31e (erferyie) w sifera Hfsm )
3. HUTCHeh Hodieh A1 (ohaT STSRTT |
4. Toru off T8 % HTHIE AT AN TS T WIATSEA Wi T SART A1 8 |
5. OMR 3TR-YIE (STEII(E) T TANT Hld THT THET i ATTIUTHT T
Hi/atd Ed I8 e 9 a1 3a |1ie 11 ferae st ug e e
FHATTEYT TE @ & T |
IS 97T / foreat sht fora Sestd |
W Teramor Tt hTEEAT | 3R
I AT AT TRgaT 30 30
1 AT [ 20 20
I Toreror arferstr 30 30
1% = fEt 10 10
% AT ST 10 10
Note :

1. This question booklet contains 100 questions each question carries
01 mark. All questions are compulsory.

N

Indicate your answers on the OMR Answer-Sheet provided.

w

No negative marking will be done.

4. Use of any type of calculator or log table and mobile phone is
prohibited.

5. While using OMR Answer-Sheet care should be taken so that the

Answer-Sheet does not get torn or spoiled due to folds or wrinkles.

Details of Parts/Subjects :

Part | Particular No. of Questions | Marks
I General Mental Eligibility 30 30
Il General Knowledge 20 20
Il Educational Interest 30 30
v General Hindi 10 10
\ General English 10 10
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. No. 0QID Q. No. 0QID Q. No| 0QID

1 [BSIG2024106 34 [AEAM20231007 67 |HKJ2024067

2 |BSIG2024107 35 |[AEAM20231008 68 |HKJ2024068

3 [BSIG2024108 36 |AEAM20231009 69 |HKJ2024069

4 |BSIG2024109 37 |AEAM20231010 70 |HKJ2024070

5 [BSIG2024110 38 [JK]2024037 71 |HKJ2024071

6 |BSIG2024111 39 [JKj2024038 72 |HKJ2024072

7 |BSIG2024112 40 [JKJ2024039 73 |HK]J2024073

8 |BSIG2024113 41 [HGYIK]J2024044 74 |HKJ2024074

9 |BSIG2024114 42 |HGYIK]2024045 75 |HK]J2024075

10 |BSIG2024115 43 [JKj2024046 76 |HK]2024076

11 |BSIG2024116 44 []JKj2024047 77 |HK]2024077

12 |BSIG2024117 45 [JKj2024048 78 |HK]2024078

13 [BSIG2024118 46 |JKJ2024049 79 [HK]J2024079

14 |BSIG2024119 47 [JKJ2024050 80 |HKJ2024080

15 |BSIG2024120 48 |AEAM20233012 81 [JK]2024081

16 |BSIG2024121 49 [AEAM20231012 82 [JK]2024082

17 |BSIG2024122 50 |AEAM20232011 83 [JKj2024083

18 |BSIG2024123 51 |HKJ2024051 84 [JK]2024084

19 |BSIG2024124 52 [HKJ2024052 85 [JKJ2024085

20 |BSIG2024125 53 |HKJ2024053 86 |JKJ2024086

21 |BSIG2024126 54 [HKJ2024054 87 |]JKJ2024087

22 [BSIG2024127 55 |HKJ2024055 88 [JK]2024088

23 [BSIG2024128 56 |HKJ2024056 89 [JK]2024089

24 [BSIG2024129 57 |HKJ2024057 90 [JKJ2024090

25 |BSIG2024130 58 |HKJ2024058 91 |[DNYNYH2024001

26 |BSIG2024131 59 [HKJ2024059 92 |DNYNYH2024002

27 |BSIG2024132 60 |HK]2024060 93 [DNYNYH2024003

28 |BSIG2024133 61 |HK]2024061 94 |[DNYNYH2024004

29 [BSIG2024134 62 |HKJ2024062 95 |DNYNYH2024005

30 |BSIG2024135 63 |HKJ2024063 96 |DNYNYH2024006

31 |AEAM20233004 64 |HKJ2024064 97 |DNYNYH2024007

32 |AEAM20233005 65 |HKJ2024065 98 |DNYNYH2024008

33 |[AEAM20231006 66 |HK]2024066 99 [DNYNYH2024009
100 |DNYNYH2024010
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